



# A VISCOUS ITERATION PROCESS FOR A FINITE FAMILY OF NONEXPANSIVE MAPPINGS IN BANACH SPACES

#### HONG-KUN XU

Dedicated to Professor Jong Soo Jung on the occasion of his 65th birthday

ABSTRACT. A viscous iteration process for a finite family of nonexpansive mappings in a uniformly smooth Banach space is studied and the strong convergence of the process is proved.

#### 1. INTRODUCTION

Let H be a Hilbert space with inner product  $\langle \cdot, \cdot \rangle$  and norm  $\|\cdot\|$ , respectively, let C be a nonempty closed convex subset of H, and let  $T: C \to C$  be a nonexpansive mapping (i.e.,  $||Tx - Ty|| \le ||x - y||$  for all  $x, y \in C$ ). Let Fix(T) denote the set of fixed points of T; i.e.,  $Fix(T) = \{x \in C : Tx = x\}$ . Assume  $Fix(T) \neq \emptyset$ .

In 1967, Halpern [2] introduced an iteration process that converges in norm to a fixed point of T. More precisely, Halpern's algorithm generates a sequence  $(x_n)$  as follows: The initial guess  $x_0 \in C$  is selected arbitrarily and the iteration process is proceeded according to the rule:

(1.1) 
$$x_{n+1} = \lambda_n u + (1 - \lambda_n) T x_n$$

where  $u \in C$  is referred to as anchor and  $(\lambda_n)$  is a sequence in (0, 1).

The convergence of Halpern's algorithm has been proved by many researchers [2, (6, 10, 11, 14, 16]. In summary, we have the following convergence result for Halpern's algorithm (the reader is referred to the survey [7] for more details updated until 2010).

**Theorem 1.1.** Suppose that the sequence  $(\alpha_n)$  in (0,1) satisfies the conditions (C1), (C2), and (C3) or (C4). Then the sequence  $(x_n)$  generated by Halpern's algorithm (1.1) converges in norm to the fixed point q of T that is closest to u from Fix(T); namely,  $q = P_{\text{Fix}(T)}(u)$ , the nearest point projection of u onto Fix(T).

Here the conditions (C1)-(C4) are stated as follows:

- (C1)  $\lim_{n\to\infty} \lambda_n = 0$  [2],
- (C2)  $\sum_{n=0}^{\infty} \lambda_n = \infty$  [2], (C3)  $\sum_{n=0}^{\infty} |\lambda_n \lambda_{n+1}| < \infty$  [11,14],
- (C4)  $\lim_{n\to\infty} |\lambda_n \lambda_{n+1}| / \lambda_{n+1} = 0$ ; equivalently,  $\lim_{n\to\infty} \lambda_n / \lambda_{n+1} = 1$  [16].

The extension of Halpern's algorithm to a finite family of nonexpansive mappings was initiated in [6] and the following result was proved in [1].

<sup>2010</sup> Mathematics Subject Classification. 47H09, 47H10, 47J25.

Key words and phrases. Nonexpansive mapping, viscous iteration, sunny nonexpansive retraction, uniformly smooth Banach space.

**Theorem 1.2** ([1]). Let  $N \ge 1$  be an integer and let  $\{T_i\}_{i=1}^N$  be a finite family of nonexpansive self-mappings of C with a nonempty common fixed point set  $F := \bigcap_{i=1}^N \operatorname{Fix}(T_i)$ . Assume in addition

(1.2) 
$$F = \operatorname{Fix}(T_N \dots T_2 T_1) = \operatorname{Fix}(T_1 T_N \dots T_2) = \dots = \operatorname{Fix}(T_{N-1} \dots T_1 T_N).$$

Given  $x_0, u \in C$ . Define a sequence  $(x_n)$  by the iteration process

(1.3) 
$$x_{n+1} = \lambda_{n+1}u + (1 - \lambda_{n+1})T_{n+1}x_n, \ n \ge 0,$$

where  $(\lambda_n) \subset (0,1)$  and  $T_n = T_{n \mod N}$ , with the mod N function taking values in  $\{1, 2, \ldots, N\}$ . Assume the conditions (C1) and (C2) are satisfied. Assume in addition the condition (C5) below is also satisfied:

(C5) 
$$\sum_{n=0}^{\infty} |\lambda_n - \lambda_{n+N}| < \infty.$$

Then  $(x_n)$  converges in norm to a point in F.

The result of Theorem 1.2 was extended to a Banach space setting [9] where the space is either uniformly smooth or has a weakly continuous generalized duality map.

On the other hand, Moudafi [8] introduced the viscosity methods to nonexpansive mappings. He considered the following iteration process for single nonexpansive mapping:

(1.4) 
$$x_{n+1} = \lambda_n f(x_n) + (1 - \lambda_n) T x_n,$$

where  $f: C \to C$  is a  $\gamma$ -contraction for some constant  $\gamma \in [0, 1)$ ; that is, f satisfies the contraction property:  $||f(x) - f(y)|| \leq \gamma ||x - y||$  for all  $x, y \in C$ .

This viscosity method for single mapping was extended to the uniformly smooth Banach space setting in [15].

The purpose of the present paper is to extend the result of [15] to the case of a finite family of nonexpansive mappings in uniformly smooth Banach spaces.

#### 2. Preliminaries

Let X be a uniformly smooth Banach space, C a nonempty closed convex subset of X, and  $T : C \to C$  a nonexpansive mapping. Assume  $\operatorname{Fix}(T)$  is nonempty. Let  $\Pi_C$  denote the collection of all contractions from C into itself. That is,  $f \in \Pi_C$  if and only if f is a self-mapping of C and satisfies the contraction property:  $\|f(x) - f(y)\| \leq \gamma \|x - y\|$  for all  $x, y \in C$  and some  $\gamma \in [0, 1)$ . In this case, f is said to be a  $\gamma$ -contraction.

The following result, known as viscosity method of nonexpansive mappings, will be needed in the proof of the main result of the paper to be presented in the next section.

**Theorem 2.1** ([15]). Under the above setting, there exists a unique sunny nonexpansive retraction  $Q: \Pi_C \to \operatorname{Fix}(T)$  which is given by

(2.1) 
$$Q(f) = \lim_{t \to 0+} z_t, \quad f \in \Pi_C,$$

where  $z_t$  is the unique fixed point of the contraction  $C \ni x \mapsto tf(x) + (1-t)Tx$ . Moreover, Q(f) solves the variational inequality (VI)

(2.2) 
$$\langle (I-f)Q(f), J(Q(f)-p) \rangle \leq 0, \quad f \in \Pi_C, \ p \in \operatorname{Fix}(T).$$

Here  $J: X \to X^*$  is the normalized duality map from X into  $X^*$  and  $X^*$  is the dual space of X.

Recall that the normalized duality map J is defined as

$$J(x) = \{x^* \in X^* : \|x\|^2 = \|x^*\|^2 = \langle x, x^* \rangle\}, \quad x \in X.$$

It is known that for a uniformly smooth Banach space X, the duality map J is single-valued and norm-to-norm uniformly continuous over every bounded subset of X. [See [17] for more information on uniform smoothness of Banach spaces.]

We also need two technical tools stated in the lemmas below.

**Lemma 2.2** ([16]). Assume  $(s_n)$  is a sequence of nonnegative real numbers such that

 $s_{n+1} < (1 - \alpha_n)s_n + \sigma_n, \quad n > 0$ 

where  $(\alpha_n)$  is a sequence in (0,1) and  $(\sigma_n)$  is a sequence of real numbers such that

(i)  $\sum_{n=1}^{\infty} \alpha_n = \infty$ ; (ii)  $\limsup_{n \to \infty} \sigma_n / \alpha_n \le 0 \text{ or } \sum_{n=1}^{\infty} |\sigma_n| < \infty$ . Then  $\lim_{n\to\infty} s_n = 0.$ 

**Lemma 2.3.** Let J be the normalized duality map of a smooth Banach space X. Then, for all  $x, y \in X$ , the following inequality holds

$$||x+y||^2 \le ||x||^2 + 2\langle y, J(x+y) \rangle.$$

## 3. VISCOUS ITERATION IN BANACH SPACES

Consider a closed convex subset C of a Banach space X and let  $N \ge 1$  be a given integer. Suppose  $T_i: C \to C$  for i = 1, 2, ..., N are nonexpansive mappings which satisfy the following consistency condition:

(3.1) 
$$\emptyset \neq \bigcap_{i=1}^{N} \operatorname{Fix}(T_{i}) = \operatorname{Fix}(T_{N}T_{N-1}\dots T_{1}).$$

Note that this consistency condition implies that (3.2)

$$\bigcap_{i=1}^{2} \operatorname{Fix}(T_i) = \operatorname{Fix}(T_N \dots T_2 T_1) = \operatorname{Fix}(T_1 T_N \dots T_2) = \dots = \operatorname{Fix}(T_{N-1} \dots T_1 T_N).$$

**Remark 3.1.** The consistency condition (3.1) is not restrictive. As a matter of fact, if we replace  $T_i$  with the averaged mapping  $T_i := (1 - \alpha_i)I + \alpha_i T_i$ , where  $\alpha_i \in (0,1)$  for  $1 \leq i \leq N$ . Then  $\operatorname{Fix}(T_i) = \operatorname{Fix}(T_i)$  for each i and the consistency condition (3.1) holds for the family of the mappings  $\hat{T}'_i s$  which has the same set of common fixed points with the original family of mappings  $T'_is$ .

Now we consider the following viscous iteration process:

(3.3) 
$$x_{n+1} = \lambda_{n+1} f(x_n) + (1 - \lambda_{n+1}) T_{[n+1]} x_n, \quad n = 0, 1, \dots,$$

where the initial guess  $x_0 \in C$  is arbitrary, and  $f \in \Pi_C$  is a  $\gamma$ -contraction with  $\gamma \in [0, 1)$ . Here [n + 1] is defined by  $[n + 1] := (n \mod N) + 1$  for  $n \ge 0$ .

The main result of this paper is the following result.

**Theorem 3.2.** Let X be a uniformly smooth Banach space, C a nonempty closed convex subset of X, and  $\{T_i\}_{=1}^N$  be  $N \ge 1$  nonexpansive self-mappings of C. Assume the consistency condition (3.1) and the conditions (C1)-(C2). Assume, in addition,  $(\lambda_n)$  satisfies either (C5) or (C6) which is stated below:

(C6)  $\lim_{n\to\infty} \frac{\lambda_n - \lambda_{n+N}}{\lambda_{n+N}} = 0$ ; equivalently,  $\lim_{n\to\infty} \frac{\lambda_n}{\lambda_{n+N}} = 1$ .

Then the sequence  $(x_n)$  generated by the viscous iteration process (3.3) converges in norm to Q(f), where  $Q: \Pi_C \to F$  is the unique sunny nonexpansive retraction from  $\Pi_C$  onto F. Here  $F = \bigcap_{i=1}^N \operatorname{Fix}(T_i)$ .

*Proof.* As standard, the proof consists of six steps.

**Step 1:**  $(x_n)$  is bounded.

To see this, we take  $p \in F$  to get by using (3.3)

$$\begin{aligned} \|x_{n+1} - p\| &\leq \lambda_n \|f(x_n) - p\| + (1 - \lambda_n) \|T_{[n+1]}x_n - p\| \\ &\leq \lambda_n (\|f(x_n) - f(p)\| + \|f(p) - p\|) + (1 - \lambda_n) \|x_n - p\| \\ &\leq (1 - (1 - \gamma)\lambda_n) \|x_n - p\| + \lambda_n \|f(p) - p\| \\ &\leq \max \left\{ \|x_n - p\|, \frac{1}{1 - \gamma} \|f(p) - p\| \right\}. \end{aligned}$$

By induction, we obtain

$$||x_n - p|| \le \max\left\{||x_0 - p||, \frac{1}{1 - \gamma}||f(p) - p||\right\}$$

for all  $n \ge 0$ . It turns out that  $(x_n)$  is bounded.

Step 2:  $||x_{n+1} - T_{[n+1]}x_n|| \to 0 \text{ as } n \to \infty.$ 

This is quite straightforward. Indeed we have from (3.3) that

$$||x_{n+1} - T_{[n+1]}x_n|| = \lambda_{n+1}||f(x_n) - T_{[n+1]}x_n||$$

The boundedness of  $(x_n)$  and the fact that  $\lambda_n \to 0$  (as  $n \to \infty$ ) immediately imply the conclusion of Step 2.

Step 3:  $||x_{n+N} - x_n|| \to 0$  as  $n \to \infty$ .

In fact, noticing the fact that  $T_{[n+1+N]} = T_{[n+1]}$ , we derive that

 $||x_{n+1+N} - x_{n+1}|| = ||\lambda_{n+1+N}f(x_{n+N}) + (1 - \lambda_{n+1+N})T_{[n+1+N]}x_{n+N}$ 

$$- [\lambda_{n+1}f(x_n) + (1 - \lambda_{n+1})T_{[n+1]}x_n] = \|\lambda_{n+1+N}(f(x_{n+N}) - f(x_n)) + (1 - \lambda_{n+1+N})(T_{[n+1]}x_{n+N} - T_{[n+1]}x_n) + (\lambda_{n+1+N} - \lambda_{n+1})(f(x_n) - T_{[n+1]}x_n)\|.$$

Since  $(x_n)$  is bounded, we have a constant  $\alpha \ge 0$  such that  $||f(x_n) - T_{[n+1]}x_n|| \le \alpha$  for all  $n \ge 0$ . Also since f is a  $\gamma$ -contraction, it turns out that

$$||x_{n+1+N} - x_{n+1}|| \le (1 - (1 - \gamma)\lambda_{n+1+N})||x_{n+N} - x_n|| + \alpha|\lambda_{n+1+N} - \lambda_{n+1}|$$
  
=  $(1 - (1 - \gamma)\lambda_{n+1+N})||x_{n+N} - x_n|| + (1 - \gamma)\lambda_{n+1+N}\beta_n$ 

where  $\beta_n = \alpha |\lambda_{n+1+N} - \lambda_{n+1}|/((1-\gamma)\lambda_{n+1+N})$ . Now under the conditions (C1)-(C2) and (C5) or (C6), we can apply Lemma 2.2 to immediately obtain Step 3.

**Step 4:**  $||x_n - T_{[n+N]} \dots T_{[n+1]} x_n|| \to 0$  as  $n \to \infty$ .

To prove Step 4, we set  $U_0 = I$  and  $U_i = T_{[n+N]} \dots T_{[n+N-i+1]}$  for  $i = 1, 2, \dots, N$ . Then  $U_i$  are all nonexpansive. Moreover, it is easily seen that  $U_1 = T_{[n+N]}, \dots, U_N = T_{[n+N]}, \dots, T_{[n+1]}$ , and  $U_{i+1} = U_i T_{[n+N-i]}$  for  $i = 0, 1, \dots, N-1$ . We then get

$$\begin{aligned} \|x_n - T_{[n+N]} \dots T_{[n+1]} x_n\| &= \|x_n - U_N x_n\| \\ &\leq \|x_n - x_{n+N}\| + \|x_{n+N} - U_N x_n\| \\ &= \|x_n - x_{n+N}\| + \left\| \sum_{i=0}^{N-1} (U_i x_{n+N-i} - U_{i+1} x_{n+N-i-1}) \right\| \\ &= \|x_n - x_{n+N}\| + \left\| \sum_{i=0}^{N-1} (U_i x_{n+N-i} - U_i T_{[n+N-i]} x_{n+N-i-1}) \right\| \\ &\leq \|x_n - x_{n+N}\| + \sum_{i=0}^{N-1} \|x_{n+N-i} - T_{[n+N-i]} x_{n+N-i-1}\|. \end{aligned}$$

Now by Step 2, we see that each term under the above summation tends to zero when  $n \to \infty$ . This combining with Step 3 yields the result of Step 4.

**Step 5:**  $\limsup_{n\to\infty} \langle f(q)-q, J(x_n-q) \rangle \leq 0$ . Here q = Q(f) and Q is the unique sunny nonexpansive retraction from  $\prod_C$  onto  $F = \bigcap_{i=1}^N \operatorname{Fix}(T_i)$ .

To verify Step 5, we take a subsequence  $(x_{n_k})$  of  $(x_n)$  with the property:

(3.4) 
$$\limsup_{n \to \infty} \langle f(q) - q, J(x_n - q) \rangle = \lim_{k \to \infty} \langle f(q) - q, J(x_{n_k} - q) \rangle.$$

With no loss of generality we may assume that  $(x_{n_k})$  converges weakly to a point  $\hat{x}$  in C. Since the pool of the mappings of the family is finite, we may further assume that  $[n_k] \equiv i$  for all k and some  $i \in \{1, 2, \ldots, N\}$  so that  $T_{[n_k]} = T_i$  for all k. Let  $U = T_{i+N} \ldots T_{[i+1]}$ . Then F = Fix(U) by (3.2). Moreover, it turns out from Step 4 that  $||x_{n_k} - Ux_{n_k}|| \to 0$  as  $k \to \infty$ .

By the uniqueness of the sunny nonexpansive retraction from  $\Pi_C$  onto F, we have that  $q = Q(f) = \lim_{t\to 0} z_t$ , where  $z_t = tf(z_t) + (1-t)Uz_t$  for 0 < t < 1. By Lemma 2.3, we get

$$\begin{aligned} |z_t - x_{n_k}||^2 &= \|(1-t)(Uz_t - x_{n_k}) + t(f(z_t) - x_{n_k})\|^2 \\ &\leq (1-t)^2 \|Uz_t - x_{n_k}\|^2 + 2t\langle f(z_t) - x_{n_k}, J(z_t - x_{n_k})\rangle \\ &\leq (1-t)^2 \left(\|Uz_t - Ux_{n_k}\| + \|Ux_{n_k} - x_{n_k}\|\right)^2 \\ &+ 2t\langle f(z_t) - z_t + z_t - x_{n_k}, J(z_t - x_{n_k})\rangle \\ &\leq (1-t)^2 \left(\|z_t - x_{n_k}\| + \|Ux_{n_k} - x_{n_k}\|\right)^2 \\ &+ 2t \left(\|z_t - x_{n_k}\|^2 + \langle f(z_t) - z_t, J(z_t - x_{n_k})\rangle\right) \\ &\leq (1+t^2) \|z_t - x_{n_k}\|^2 + 2t\langle f(z_t) - z_t, J(z_t - x_{n_k})\rangle \\ &+ (1-t)^2 \|Ux_{n_k} - x_{n_k}\| (\|Ux_{n_k} - x_{n_k}\| + 2\|z_t - x_{n_k}\|). \end{aligned}$$

It turns out that, for all k and  $t \in (0, 1)$ ,

(3.5) 
$$\langle f(z_t) - z_t, J(x_{n_k} - z_t) \rangle$$
$$\leq \frac{t}{2} \|z_t - x_{n_k}\|^2 + \frac{1}{2t} \|Ux_{n_k} - x_{n_k}\| (\|Ux_{n_k} - x_{n_k}\| + 2\|z_t - x_{n_k}\|).$$

Let  $\alpha > 0$  be a constant bigger than  $||z_t - x_{n_k}||^2$  and  $||Ux_{n_k} - x_{n_k}|| + 2||z_t - x_{n_k}||$ . Then (3.5) is reduced to, for all k and  $t \in (0, 1)$ ,

(3.6) 
$$\langle f(z_t) - z_t, J(x_{n_k} - z_t) \rangle \le \alpha t + \frac{\alpha}{t} \| U x_{n_k} - x_{n_k} \|$$

Since  $||Ux_{n_k} - x_{n_k}|| \to 0$  as  $k \to \infty$ , we can take the limit by letting  $k \to \infty$  in (3.6) to get, for all  $t \in (0, 1)$ ,

(3.7) 
$$\limsup_{k \to \infty} \langle f(z_t) - z_t, J(x_{n_k} - z_t) \rangle \le \alpha t.$$

However, since  $z_t \to q$  in norm and J is uniformly continuous in the norm topology over a bounded set that contains  $(z_t) \cup (x_n)$ , we can take the limit as  $t \to 0$  in (3.7) to get

$$\limsup_{k \to \infty} \langle f(q) - q, J(x_{n_k} - q) \rangle \le 0.$$

This together with (3.4) verifies Step 5.

**Step 6:**  $x_n \to Q(f)$  in norm (as  $n \to \infty$ ). Here again Q is the unique sunny nonexpansive retraction from  $\Pi_C$  onto  $F = \bigcap_{i=1}^N \operatorname{Fix}(T_i)$ .

We will use Lemma 2.2 to prove Step 6. Let q = Q(f). It follows from Lemma 2.3 that

$$||x_{n+1} - q||^2 = ||\lambda_{n+1}(f(x_n) - q) + (1 - \lambda_{n+1})(T_{[n+1]}x_n - q)||^2$$
  

$$\leq (1 - \lambda_{n+1})^2 ||T_{[n+1]}x_n - q||^2 + 2\lambda_{n+1}\langle f(x_n) - q, J(x_{n+1} - q)\rangle$$
  

$$\leq (1 - \lambda_{n+1})^2 ||x_n - q||^2 + 2\lambda_{n+1}\langle f(x_n) - f(q), J(x_{n+1} - q)\rangle$$

$$+ 2\lambda_{n+1}\langle f(q) - q, J(x_{n+1} - q)\rangle$$
  

$$\leq (1 - \lambda_{n+1})^2 ||x_n - q||^2 + 2\lambda_{n+1}\gamma ||x_n - q|| \cdot ||J(x_{n+1} - q)||$$
  

$$+ 2\lambda_{n+1}\langle f(q) - q, J(x_{n+1} - q)\rangle$$
  

$$= (1 - \lambda_{n+1})^2 ||x_n - q||^2 + 2\lambda_{n+1}\gamma ||x_n - q|| \cdot ||x_{n+1} - q||$$
  

$$+ 2\lambda_{n+1}\langle f(q) - q, J(x_{n+1} - q)\rangle$$
  

$$\leq (1 - \lambda_{n+1})^2 ||x_n - q||^2 + \lambda_{n+1}\gamma (||x_n - q||^2 + ||x_{n+1} - q||^2)$$
  

$$+ 2\lambda_{n+1}\langle f(q) - q, J(x_{n+1} - q)\rangle.$$

It turns out that

$$\|x_{n+1} - q\|^2 \le \frac{(1 - \lambda_{n+1})^2 + \gamma \lambda_{n+1}}{1 - \gamma \lambda_{n+1}} \|x_n - q\|^2 + \frac{2\lambda_{n+1}}{1 - \gamma \lambda_{n+1}} \langle f(q) - q, J(x_{n+1} - q) \rangle.$$

Setting 
$$s_n = ||x_n - q||^2$$
,

$$\alpha_n = 1 - \frac{(1 - \lambda_{n+1})^2 + \gamma \lambda_{n+1}}{1 - \gamma \lambda_{n+1}} = \frac{(2 - \gamma - \lambda_{n+1})\lambda_{n+1}}{1 - \gamma \lambda_{n+1}} = O(\lambda_{n+1}),$$

and

$$\sigma_n = \frac{2\lambda_{n+1}}{1 - \gamma\lambda_{n+1}} \langle f(q) - q, J(x_{n+1} - q) \rangle,$$

we may rewrite the last inequality as

$$(3.8) s_{n+1} \le (1 - \alpha_n)s_n + \sigma_n.$$

It is evidently clear that  $\alpha_n \to 0$  since  $\lambda_n \to 0$ . In addition, since

$$\frac{\sigma_n}{\alpha_n} = \frac{2}{2 - \gamma - \lambda_{n+1}} \langle f(q) - q, J(x_{n+1} - q) \rangle,$$

it turns out from Step 5 that

$$\limsup_{n \to \infty} \frac{\sigma_n}{\alpha_n} = \frac{2}{2 - \gamma} \limsup_{n \to \infty} \langle f(q) - q, J(x_{n+1} - q) \rangle \le 0.$$

Consequently, Lemma 2.2 is applicable and we obtain from (3.8) that  $s_n \to 0$ , namely,  $x_n \to q$  in norm. The proof is complete.

**Remark 3.3.** (i) The result of Theorem 2.1 remains valid if the uniform smoothness is replaced with the assumption that the space X either is uniformly Gateaux differentiable with the fixed point property for nonexpansive mappings or has a weakly continuous duality mapping with some gauge  $\varphi$ .

(ii) Theorem 2.1 has been proved in some papers with an additional condition that the space X be strictly convex as well (see [3-5, 12, 13]).

### References

- H. H. Bauschke, The appoximation of fixed points of compositions of nonexpansive mappings in Hilbert space, J. Math. Anal. Appl. 202 (1996), 150–159.
- [2] B. Halpern, Fixed points of nonexpanding maps, Bull. Amer. Math. Soc. 73 (1967), 957–961.
- [3] J. S. Jung, Viscosity approximation methods for a family of finite nonexpansive mappings in Banach spaces, Nonlinear Anal. **64** (2006), 2536–2552.

- [4] J. S. Jung, Strong convergence of an iterative method for finding common zeros of a finite family of accretive operators, Commun. Korean Math. Soc. 24 (2009), 381–393.
- [5] J. S. Jung and D. R. Sahu, Convergence of approximating paths to solutions of varia- tional inequalities involving non-Lipschitzian mappings, J. Korean Math. Soc. 45 (2008), 377–392.
- [6] P.-L. Lions, Approximation de points fixes de contractions, C. R. Acad. Sci. Ser. A-B Paris 284 (1977), 1357–1359.
- [7] G. Lopez, V. Martin and H. K. Xu, Halpern's iteration for nonexpansive mappings, in: Nonlinear Analysis and Optimization I: Nonlinear Analysis, Contemporary Math. 51 (2010), 211–230.
- [8] A. Moudafi, Viscosity approximation methods for fixed-points problems, J. Math. Anal. Appl. 241 (2000), 46–55.
- J. G. O'Hara, P. Pillay and H. K. Xu, Iterative approaches to convex feasibility problems in Banach spaces, Nonlinear Analysis 64 (2006), 2022–2042.
- S. Reich, Strong convergence theorems for resolvents of accretive operators in Banach spaces, J. Math. Anal. Appl. 75 (1980), 287–292.
- [11] N. Shioji and W. Takahashi, Strong convergence of approximated sequences for nonexpansive mappings in Banach spaces, Proc. Amer. Math. Soc. 125 (1997), 3641–3645.
- [12] Y. Song and R. Chen, Strong convergence theorems on an iterative method for a family of finite nonexpansive mappings, Appl. Math. Comput. 180 (2006), 275–287.
- [13] Y. Song and S. Xu, Strong convergence theorems nonexpansive semigroup in Banach spaces, J. Math. Anal. Appl. 338 (2008), 152–161.
- [14] R. Wittmann, Approximation of fixed points of nonexpansive mappings, Arch. Math. 58 (1992), 486–491.
- [15] H. K. Xu, Viscosity approximation methods for nonexpansive mappings, J. Math. Anal. Appl. 298 (2004), 279–291.
- [16] H. K. Xu, Iterative algorithms for nonlinear operators, J. London Math. Soc. 66 (2002), 240-256.
- [17] H. K. Xu, Inequalities in Banach spaces with applications, Nonlinear Anal. 16 (1991), 1127– 1138.

Manuscript received 15 March 2019 revised 25 March 2019

H. K. XU

Department of Mathematics, School of Science, Hangzhou Dianzi University, Hangzhou 310018, China

E-mail address: xuhk@hdu.edu.cn